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Problem quickname: 9229

1)

Calculate the result.

a) (—4) - (=7) = +28
d) (=6) - (—=5) = +30
g) (+6) - (—8) = —48
P(=3)-(+8)=—24
2)

Calculate the result.

a) (—11) - (—8) = 488
d) (—13) - (+20) = —260
f) (+5) - (=3) =—15
i) (+5) - (—16) = —80
3)

Calculate the result.

a) (+12) - (—=17) = —204

c) (=24) - (+5) = —120
e) (—41) - (+49):—2009
g) (+35) - (—10) = —350
i) (—26) - (—=5) = +130
4)

Calculate the result.

a) (+46) - (—15) = —690
¢) (=7) - (+39) = —273

¢) (+41) - (=75) = —3075
g) (+42) - (—35) = —1470
i) (+94) - (—76) = —7144
Good Luck!

www.dw-math.com

b) (+9)

g) (=19) - (+10) =
i) (=10) - (+10) =

Worksheet

(—14) = —126

e) (—=12) - (+17) = —204
~190
—100

b) (+31) - (=25) = =775
d) (+3) - (=17) = —51

f) (=2) - (+19) = —38

h) (+21) - (—26) = —546

i) (+19) - (—34) = —646

b) (+29) - (—36) = —1044
d) (—25) - (+52) = —1300
£) (+23) - (—34) = —782

h) (+36) - (—46) = —1656

i) (—43) - (+55) = —2365
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¢) (=9) - (=7) =
f) (=8) - (+6) = —48
i) (=8)-(4+9) = -T2
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c) (=13) - (+4) =

h) (4+3) - (=15

+63

—52

) = —45

rrrrrr

9229-3/MMOM

ick:

Quic!

9229

Qu
9229

ick:

ick:

Quic
9229

Qu
9229

ick:



